N EEN HH - R 2019/7/14 R TEIE
ks Eard FURIITE YN — — — -
e 2 PR =N — B S Fogk AT HEE BEA
R4 Ao T HR A AR fathh 4 Sefile ine
B | #H 1fir 2hr 3hr ahr 5hr 6hL The 8hL
ent | 1A | 1o0om TiE EA 12.05 0.0)[FA #K 1224 00)(EF EE 1235 00)| =€ B 1241 (00)|FEA BAEE 1247 (00)|FR E2f 1264 (00)|HEX £% 12,69 (0.0)[ILAX EA 12.97 (0.0)
HRE E3:3 EE EEE HRE XE #BHE HE
7138 | 1500m LI 4:37.82| ARE EM 4:4128|hE BB 4:42.98| KPE 3} 4:4418| ¥+ BR— 44422| AEFH [ 44438 EKR =N 4:4443|FKF BIE 4:52.40
dwE BE Xith twE AEH BEZE Fls 8
omsr [tamal 1oom Wik KA 1162 (+1.6)| #ii® 1&A 11.66 (+1.6)|¥AE  AA&L 1170 +1.6)| Tz T1> 4> 1194 (+1.6)| 54t FE 11.96 (+1.6)|AH =E 12.10 (+1.6)| %t BEN 1213 (+1.6)|8 —1& 12.13 (+1.6)
=58 54 # p:i| Xith HHd XE RE S
sesr [tmal 1oom RIR A 11.09 (+1.0)|FE EF 1112 +1.0)|FAR B 1122 +1.0)[;BH FH 11.33 (+1.0)| &)1l BEF| 1142 (+1.0)| FEH —#% 11.46 (+1.0)| BT R 1152 (+1.0)| LB KEE 11.56 (+1.0)
EE dwE AEZE 2BE BEZE 3 AEE s
9-3%87 | 7A130 | 1500m REH EA 417.31|# #HK 417.64|H £5E 4:19.06|#TH RA 419.19|FHE #H 4:19.25|1 B2 41937|IK BB&E 419393/ K —F 4:23.20
Kith ALl Kith = HHi F5 HERR BEZE
semar |7A14n ]| 200m RIR A 2264 (-0.)|#E)1 FI—ER 2296 (0. |HFA EM 2296 (-0.)|1£% % 2339 (-0.1)|MxT BR 2355 (-0.[AK BEA 2356 (-0.1)[Fx)I BES 2358 (-0.1)| B h 24,02 (-0.1)
EE s AEZE E3:3 AR E3:3 EEZE EHFRE
78138 | 400m Il #8E 51.26|#)I1 F—ER 51.94(#ME BEE 5408|FE FEH 5445/ % WA 54.47(%M BE3 54.55|# 948 54.68|/NEIR HIF 56.19
BllE s ¥ e XE Fadiah=y e A&
7H148 | 800m i pE} 2:05.99| K8 ¥ 2:0657|3/KA —F 2:06.62|FH FOHg 2:07.08[;a 4 SR+ 2:07.35[#AAK i#th 2:07.71 |l EEK 2:08.19| AKX £&E 2:11.92
KE E3:3 EEZE 2BE Fadiah=y HHi AiF L5
7140 | 3000m BH EA 9:06.68|7TH EA 9:07.04|[E Bz 9:07.42|ZMA #FH 9:09.94|#% K 9:12.32|=if TX 9:13.02F4F0 3k 9:15.64(RTH REA 9:16.98
Kith Kith FH AHI AL XE KB 2i&
B BL 14.35 (-0.1)|78E & 1436 (-0.0)|A% BZ 1522 (FO.N|/hS 15 15.83 (<0.1) s B 16.02 (-0.0[IL@ XK 16.25 (-0.0[LO & 16.29 (-0.1)
7H14R | 11omH 2ia tuE s A4 F5 HRE AiF
ik # 15.83 (-0.1)
]
Flac 4468| Ei2 44.87|{H%2 4552| HE L 4575 S 45.76| H WA 4598| &= 46.11|EBFE 46.82
AE FE INRERAE s MR HiE A HIl E—E BRI A BiE NG BER
7TH14H | 4x100mR [FEE Z5$ AKX BEA =% R WA FLH ERE R FH B Wit $IKEA F BER
A % FEH —#8 Bk ET AE £E AT BX [IT[= 2PN Jeix £+ TH# HE
Hi BZ &% % H_95E N BE +H Rit [ DS FH R ARMA MFE
5 —E 1.85|%A it 1.82|KFIH £& 1.76| I8 =55 1.70(BH A 1.65 By T 160|thE HMEX 1.55
oo |BAE S A pNEd HMERR A BEFE
TH14R | Embk RE & 1.65
=N
THR | wEw [BR R 310[RE —F 300[ /NI &5 ECEE N 200| X8 @& 200
A b3l %4 Fadiak=y A L
78130 | g —E 6.83 (+05)|=ZE EHiZ 6.64 (+0.8)|BAEE BZ 6.12 (+0.6)|FH #HE 6.09 (+0.6)|EE & 6.02 (+0.6)|7reh B 5.96 (+1.0)|UEIE FEA 5.85 (0.0)| kix EER 5.78 (+0.2)
BEHE Big¥ e BB 8T RH AL PG
TAn | =mw B2E EiZ wi3.76 +2.1)[dLiE &+ 12.45 (-0.3)| ki ER 12.18 (0.0)|EH =83 1204 (-0.3)|F& #X 11.94 (+1.2)| kB EA 11.82 00)|FXR & 11.68 (-0.5)| AR 12 11.65 (+0.4)
BIEF BB pNEd FE BE i) HHI Al
1R | ma M =8 12.19|48H FE 10.79|F%E ZFF 10.67[#AK E} 10.46(fRT —E& 10.28(EAR X 9.27(R% 5% 9.04|RE &5 8.98
ks ii=) in]::| itz Eiz KB EE ALIFE M
TH138 | Mg M =8 40.24|%MA EF 30.93|%2H R 29.72(PBT —HEa 2950 &5 RE 2870|#5 WX 2755|EA WX 27.13|#K &3} 26.35
— |#EAs pict::] i ::] RE A% AHI BEE E3:3
TH138 | WA #E Wb 2458| KA F& 2437 IhE B 2124|188 1=%5 2011 [#a8 BAIK 2093| @R EABA 1975|%& A 1799| Rl HAAER 1773
wnEs HEA &4 P EE MR ER AlF AHI
7THI3H | 110mH 16.66 (=0.2) 15.54 (=0.2) 15.93 (=0.2) 16.75 (=0.2) 16.52 (=0.2) 17.40 (=0.3) 17.21 (=0.2) 18.16 (-0.2)
THI3E | fuiuik 11.96 8.80 8.13 9.22 8.58 7.30 9.47 7.27
TH13E | &bk 1.70 1.76 1.58 1.64 1.61 1.73 1.45 1.55
7H13E [ 400m 53.74 53.88 55.99 56.89 56.37 57.60 1:00.70 57.15
HWE 4743 % 48.75( AL 48.88| KR 48.99|dL#FE 49.26(HEHdt 49.93| 182 50.02
A WA} WA &} NG R RER & B BE B EE Tk EiE
IRSEAER 1| THI3HE | 4x100mR [+48 ZEA LUEC RGN B BK ER g2 HE Bt FOL: -1V N BT
AR JEAER WA EH #HE 2 NI Tof Fdi X WE fEth wmy RiE
AT _EH WE sk B BT i BN HH RE INER A =H XB




A4 TR HH - R 2019/7/14 R ,Lgﬁ &7
e 2 PR =N — B S e T JHEE A
ER(HTilie AR T AR AR R fathh 4 Sefile ine
B | #H 1hr 2hr 3hr ahr 5hr 6hL The 8hL
vkt |7a14n| 100w |MF A0 1343 (0.0)| 1L 2 13.53 (0.0)|#f FIx 13.82 (00)|IIA Hm& 13.90 (0.0)|Eeh E# 14.05 (0.0)|¥HF8 =i 1409 (00)|EAR EX 1413 (00)|H £ #Ex 14.16 (0.0)
’ WA RIR BEZE HRE =58 HERR twE | EE
7A138 | 800m #HA BHE 2:31.51 |8 —% 2:32.83| L DLV 2:3344|Hh FLTY 2:34.23| %A —1E 2:36.06|F% T i®A 2:37.04|1LA & 2:39.32|1£1A BHMHE 2:40.13
FE #WERIR FEER il Dk Fls =58 At
oteter | 7130 | 100m B0 A 12.40 (+1.9)| Tk &4 1274 +1.9)|EE 223 1291 (H1.9)|4%k DE 12.97 (+1.9)| FFF #k3E 13.01 (+1.9)| B HE BT 13.39 (+1.9)|/hk  Ei# 1340 (+1.9)| H B BHE 13.41 (+1.9)
BEYE GR| SRR BEs EHE ERE 2Es HIRE ZHR
steser | 7130 | 100m BAx TV 1257 (+0.8)|/h#k EIE 12.64 (+0.8)|aE #FE 12.79 (+0.8)| =5H FRE 12.80 (+0.8)|;#% HZE 13.08 (+0.8)| X#i EmH 13.14 (+0.8)|;m% EIK 13.21 (+0.8)| K¥ EH 13.30 (+0.8)
alg #WERIR F5 AEZE Fadiah=y AILE HIRE ElIES
semat | 7un | 200m IME HE 2620 (+0.2)(FE DL F 26.23 (+0.2) (IR T 26.29 (+0.2)[FHH 3= 2653 (+0.2)[A FE 26.55 (+0.2)|Fafk HHl 26.95 (+0.2)|t2H HE 26.97 (+0.2)|&th BIF 27.19 (+0.2)
#WERIR F& alg ERE BEs ZHR RE AILE
78148 | 800m BR &5 2:18.61 @Il B 2:19.18| % KT 2:19.83|1LE = 2:2043[ILA %= 2:2097|iEK BIEF 2:21.29|1EE KEL 2:2555| AT %5 2:33.02
=58 kA FEER twE s =58 EE ZHR
781308 | 1500m 1T N4 439.42|1FK £S5 44224|4L 8 Ex 4:4381|IE1E /KEL 4:49.23| K EIF 45166/ LEF #E 4:54.91|8RIF HEFIF 45757| %8 KB 5:02.02
tuE GR[EA& dtwE ERE F5 FEHR AF FEER
7A148 | 100mH B HD 14.90 (-0.3)| A R% 15.11 (-0.3)| &EFE FHik 15.12 (-0.3)|RiIE #HE 1557 (-0.3)|lUA W34 1572 (-0.3)[FALT HTE 15.88 (-0.3)|KH H*° 15.90 (-0.3)|Fr#t il 15.97 (-0.3)
FEEA AF EEZE F5 s Dk HAHE #
FHRE 50.92 (AL 51.12| £ 51.27| 2 RE 51.49| 2B E 51.66 | # KK E 52.42| RFE 52.70
2 @mn SEK MEH WA i BT 3B B Bz Hig e K& 3P
TH14H | 4x100mR ;A% K X# Ef FE LE mEEE A RHE BRI R’H HY AR FTERF
N B ZF &K fE BF & R RE DB HiE WF [Il=]y:S-
BEE E# &t B BIE #R HB BR ER & fRE 23 BH FE
TE BE 1.60| KB %EE 157(#% % 151(8% HF 1.51 AT FIER 151|@mE £ 145(ch & #hth 1.40
oo | R ;K %4t s BE bl T2
AL AR BE AT 151 KE BT 140
Dk FEHE
THISH | Ak FE DE 567 (+1.0)[sk LF 521 (+1.5)|HEp ¥E 520 (+1.1)|F% 87y 499 (H15)[FA BRE 493 (+1.0)|RHA BTt wa ol (+2.1)|f8E HE 4838 (+1.7)[8AAK EZ 485 (+1.4)
F5H GR|BiH#E& A S Rig EBE RE INER
TH4A | EIITIE =) 11.92|RBF EE 11.70| Bl E£®H 11.69| KA Aig& 143|885 B 10.61|3A F0E 1048l BAF 10.40| R ThRE 9.49
b3l ks ii=) dtwE EHR XE FE Fadiik=y BAHE
TH138 | Mg BT EF 28.00(8A HN{E 2782|FIL KA 26.18| AL £ 26.02|:%HF i 2450|100 4 24.40|HL BAFE 2406|FK)I FHN 22.96
— |#EEs 5 3l e XE AF A twE
THI138 | mAEsE TE BE 2883|FEEF HEH 2392| B BB 2297|F 4 ZEiD 2N|ER ENHE 2267|BRE 23 2253|HLE & 2138|1&:R Uitz 2125
T GR|dt# = KE & AR BAME AW A%
7THI3H | 100mH 14.59 (=0.3) 15.49 (0.3) 17.00 (=0.4) 15.98 (~0.3) 16.26 (~0.3) 15.82 (~0.3) 16.02 (-0.3) 15.99 (~0.3)
THI3H | &bk 1.62 1.50 1.47 1.44 1.30 1.47 1.30 1.30
THI3H | matf 10.21 7.30 10.30 7.94 9.44 6.55 7.72 7.27
7H13H [ 200m 27.34 (+0.4) 27.90 (+0.4) 28.87 (+0.4) 28.34 (+0.4) 27.36 (+0.4) 28.10 (+0.4) 27.94 (+0.4) 27.77 (+0.4)
HWRERIR 5257|BB%E 53.88| /N &R 54.02| KR 54.05| A LI 54.64| KL 54.99|fEE 56.09|dL#F 58.31
£IR fBniE HA HE Mok B PR =K LH EK HH £¥EM AIE EF Ml €A
IRZAAE LA | THI3H | 4x100mR [/h#k #50 EH R BAL % hE AE AR BE BE RE WA #3F #RE £
A B & B FiE A TR KE EiE BiME BE BE KR K BA B
B FEx EBE Bk [iT=l-3"3 BA EK HME BREL EH FK 1 %E BE ¥K

w (wind assist) : JBE 5




